Natural Language Processing |

6. WM A A

WU Xiaokun 2885

xkun.wu [at] gmail

2022/03/18



Il fRIRE, GRIE, FES



i

[l : MKIRE

{E2FH False positives (Type | errors)

« EHEIRER
« IREHMRE accuracy, FEE precision

{BiBH False negatives (Type Il errors)

« FHEHIERES
« IREEE%E coverage. B[EIE recall



i

[l : FZRIXZE

{E2FH False positives (Type | errors)

« EHEIRER
« IREHMRE accuracy, FEE precision

{BiBH False negatives (Type Il errors)

« SHEEHIERES
« IREEE%E coverage. B[EIE recall

W RBIROFNMERE, BOF0M IERRER



i

Fiilll 5 friE
EEERRATNLNER, NEREH

o FEMME R B ARMRIEEME: +, -
o fRFLRERMEIEEM: 1, F



i

Fiilll 5 friE
EEERRERNLONS, WERTH

« MERBMMATREME: + -
« IERRBRMARENE: 1, F

T B 2T S AR EMAE S #HITII L

o RPH: TIREVPETE: FME+, (BXFREF
o RPH: TRAUMAME; FUME-, {B3EfRET



i

JEe18 B PE
;& confusion #BF%: NS 4R F3 EEAYRTA{E
T F

P True Positive (TP) False Positive (FP)

N False Negative (FN) True Negative (TN)

o FRFRIERRAGFIN
« TP: IEFRRYPEYE
« TN: IEFBAIPEM:



i

JEe18 B PE
;& confusion #BF%: NS 4R F3 EEAYRTA{E
T F

P True Positive (TP) False Positive (FP)

N False Negative (FN) True Negative (TN)

o FRFRIERRAGFIN
« TP: IEFRRYPEYE
« TN: IEFBAIPEM:

T AT E R
« —ESTEWOFEN (TPFITN) B%



i

HERE

JETRE accuracy: IEHAVTIMERI S B oL
T F

P TP FP

N FN TN

A=

TP+TIN
TP+ FP+TN+FN




i

HERE

JETRE accuracy: IEHAVTIMERI S B oL
T F

P TP FP

N FN TN

A=

TP+TIN
TP+ FP+TN+FN

BERBREREANER
o (AR SHREBIIFAFHTZRA



i

A EFERIM TR
BRI RIEE - 1005458
. BRA0ERIERN, HA™ER



i

A EFERIM TR
BRI RIEE - 1005458

. BRA0ERIERN, HA™ER
HiE—MENH KBS WEMBABRLFER

. A_ _ TP+IN  _
 BWRE: A= mpppioviay = 99-99%



i

A EFERIM TR
BRI RIEE - 1005458

. BRA0ERIERN, HA™ER
HiE—MENH KBS WEMBABRLFER

; o TP+TN -
 BWE: A= poppioviey = 99-99%

BinEARINFERERA, #5706 E
o BUAN: XF5 T PEASIED FoL M PR £



i

A @RI TSR
BRI FRIREL - 10°KER
« BERAEI00FZEZBXM, LU EE
WiE—TREVD KRR WEAWMARRL " TEX"
o EWE: A= TP+§£f£¥+FN = 99.99%
BirExMERERL, #HF0e)Mmui™E
o BN 33 D0 FEAHL AR M A 1%
H#it: TPEEEE—E, MINEERAETHER



i

WRIRE. QR

fREAE precision: AN +RERP, B (EFMAERE) NEDL
BEIE recall: tREANTRIBERED, IERMQN LR (FUNENYE) B DL

I F
P TP FP P= s
N FN TN

R =T o

TP+ FN




i

WRIRE. QR

fREAE precision: AN +RERP, B (EFMAERE) NEDL
BEIE recall: tREANTRIBERED, IERMQN LR (FUNENYE) B DL

T F
P TP FP P= s
N FN N

R = 7p.

2R MEHRXETP, MESSHERTHATNAER T
o FIBNETTHMRRITNRZ ERRA



i

WRIRE. QR

fREAE precision: AN +RERP, B (EFMAERE) NEDL
BEIE recall: tREANTRIBERED, IERMQN LR (FUNENYE) B DL

T F
P TP FP P= s
N FN N

R = 7p.

2R MEHRXETP, MESSHERTHATNAER T
o FIBNETTHMRRITNRZ ERRA

BIEAIF: R= 75w = 10 = 0%



i

9 <ol B [
BRER: MEEERS: BOES: BEWRHE.
. SERRERA? AR



i

9 2K 1a) 8 [ A
WRES: AMEEES: BERS: EMEMRNIAE.
« WEIFRAEIHRN? EEVHRE

BN X HEE: [T, F, F); Fol{E: (0.7,0.3,0.5]
» FE0.5: P = qplpp =1/2 R=gp iy = 1




i

Precision-Recall Curve

threshold = 1

Lo —

CT ]

LN |
g o
= o ato o pesithe samples
o 09 e
g 0e PR-AUC

23

. threshold = 0

B3

A 08 g
recall

« H{H0: PRIEREHGL; HERIL: PRIARESIER
« fRHEA AT



i

Precision-Recall Curve

threshold = 1

Lo r—

oy

LN |
E a7
=]
G 08 ato o pesithe samples
L embren o
8 04 PR‘AUC

23

= thresholid = 0

a4

A 08 g
recall

« H{H0: PRIEREHGL; HERIL: PRIARESIER
« fRHEA AT

Area Under Curve (AUC): MR AT



i

HERE. RiRE

Accurate Not Accurate Accurate
Precise Precise Not Precise

« TP: SBOMBE: FP: (REIEL

Not Accurate
Not Precise

T F
- P
P TP FP P=_Tb
N FN TN
A= TP+TN

— TP+FP+TN+FEN




i

=
B—EE
TR AHBEEHEERMER (BRE. QRX) G838
o &% ANEMBUEAMFS harmonic mean




i

=
B—EE
TR AHBEEHEERMER (BRE. QRX) G838
o &% ANEMBUEAMFS harmonic mean

1

Ff]':
as +(1—a)s

« AT ZRT conservative BE: (HHEEEHFY)) BENENEES



i

=
B—EE
TR AHBEEHEERMER (BRE. QRX) G838
o &% ANEMBUEAMFS harmonic mean

1

as +(1—a)s

FEI:

« AT ZRT conservative BE: (HHEEEHFY)) BENENEES
ERTERER: Ff=1-1=82+1=1

X

« SEIEXAIBARIE . — 13k



i

=
B—EE
TR AHBEEHEERMER (BRE. QRX) G838
o &% ANEMBUEAMFS harmonic mean

1

Ff]':
as +(1—a)s

« AT ZRT conservative BE: (HHEEEHFY)) BENENEES
ERTERER: Ff=1-1=82+1=1

X

« SEIEXAIBARIE . — 13k




i

PR

FEE & F-measure:

BRE. 8RERNMDGEFF

1 82 41
Fo = — I — 1 2 1
2
1)PR
qu(ﬂ 1]

= "BP+R



i

FE=
FE & F-measure: BfE. ZRIFEMNNPUATFEDL

B 1 B+l
(B2 +1)PR

Fg = 3
B*P + R

e 3> 1: BABEE; /< 1: REABEHRE



i

FE=
FE & F-measure: BfE. ZRIFEMNNPUATFEDL

1 B +1
Fo = — i — 4 21
(B2 +1)PR
Fg = 3
B2P+ R

e 3> 1: BABEE; /< 1: REABEHRE
EemNERERE: =1

_ 2PR
P+R



i

Average Precision (AP)
RIRERIMA; MNE: BRFIEE

n—1
AP =) [R(k) — R(k + 1)] * P(k)
k=0

e R(n)=0,P(n)=1



i

Average Precision (AP)
RIRERIMA; MNE: BRFIEE

AP =) [R(k) — R(k + 1)] * P(k)
k=0

e R(n)=0,P(n)=1

Mean Average Precision (mAP): Z3API{E

1 T
AP=-) AP
n
k=1



